Chapter 5 - Name ____________________________

1.
  How many times will the following loops execute System.out.print( "Hello" );? “Zero” and “Infinite” are legitimate answers.   (2pts)

	a.
int n = 100; 

for( int j = 0; j < n; j++ ) 


{ 


  System.out.print( "Hello " );


}

b.
int n = 5;

for( int j = n; j >= 0; j-- )


{


  System.out.print( "Hello " );

}
	c.
int n = 5;

for( int j = 1; j <= n; j-- )


{ 


  System.out.print( "Hello " );


  j++;


}

d.
int n = 100;

for( int j = 1; j >= n; j++ ) 


{ 


  System.out.print( "Hello " );


}


2.
Write the output produced by these for loops:    (3pts)

   for( int counter = 1; counter <= 5; counter++ )

     System.out.print( "  " + counter );

     System.out.println( " Loop One" );  // Improperly lined up to obfuscate

   for( int counter = 5; counter >= 1; counter-- )

     System.out.print( "  " + counter );

   System.out.println( " Blast Off " );  // Properly lined up to elucidate

3.
Write a for loop to that will generate this output   (2pts)

0  5  10  15  20  25  30  35  40  45  50
4.
Write a for loop that sums all the integers between start and stop inclusive that are input from the keyboard. You may assume start is always less than or equal to stop. If the input were 5 for start and 10 for stop, the sum would be 5 + 6 + 7 + 8 + 9 + 10 (45). Using the dialog to the right as a guideline, complete the code so it prints the sum:   (3pts)

	Scanner keyboard = new Scanner(System.in );

System.out.print( "Enter start: " );

int start = keyboard.nextInt( );

System.out.print( "Enter stop: " );

int stop = keyboard.nextInt( );
	Dialog

Enter start: 5
Enter stop: 10
Sum is 45


